UFFALO!,

r
L1

B

Mounting instructions saddlebag + bracket HD Sportster

Scope of supply:

1x Saddlebag

1X Bracket

2X counterparts Counterparts
1x Adhesive strip

4x Hexagon screw M6x20

4x Self-locking nut M6

8X Washer M6

Step 1:

Fix the adhesive strip to the inside of the
pbracket. Cut the overlapping parts of using a
Knife or scissors. The tape protects the bracket
and the frame against damages.

Step 2 :
Now the bracket can be put from behind to the frame.

Step 3:
Now determine the correct/desired position of the

saddlebag. Please be aware, that the bike Is going to
deflect when riding it. The shock is compressed and the
swing arm immerses. That means the bag has to be
mounted In a way, that there’'s enough space left.
Otherwise the side cladding might be damaged or
scratched

When you’'ve determine the correct position, mark the
drill holes with e.g. a pencil and drill from the backside
through the saddlebag. Put the counterparts to the
Inside of the bag and screw the tot he bracket.

Hansen Styling Parts
Dorfstr. 9
24247 Mielkendorf

Dated 22.02.2024

/BAG

VI EATHER

Nut M6 + washer—__ P

- - ‘
e :
e

e

i a

- S :
- Y o

- : F

i s

--------

Bracket

Rubber tape

Saddlebag backside

Tel.: 0049-4347-706970
Fax.: 0049-4347-3201
iInfo@hansen-styling-parts.de
www.hansen-styling-parts.de
www.buffalo-bag.com



